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50,000, 000& *1.08/100 540
OHN MMM St HHIAY
60,000, 000& *0.90/100 540
O&Y =23 SHEHIAY
80,000, 000& *0.90/100 720
OFZ 423 SHEHIAY
40,000, 000& *1.08/100 432
Ol t3d SHEHIALY
25,000,000& *1.08/100 270




AN AASEN
M otzel
& StEEH ¥ StEEL (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol =MA SOHEHIAY
30,000,000& *1.08/100 324
O8I REE(NIIS) SAHHEHIALY
45,000,000& *1.08/100 486
O&lt Reld(2E S5) SAFHIMY
45,000,000& *1.08/100 486
OJt3l I3l & (LeleitS) SHEHIALE
100,000,000& *0.90/100 900
stE =l 300,000 300,000 0
401 AIEHI L 2CHEI 300,000 300,000 0
01 A& HI 297,660 297,660 0
Oot= &l 198,560, 000& 198,560
Os=X&= HA 99,100,000& 99,100
03 AIE 2 THHI 2,340 2,340 0
Oot= &l 200,000,000& *0.72/100 1,440
Of=XN&=2 HA 100,000, 000& *0.90/100 900
ASHEF Y 688,000 4,344,000 A3,656,000
Xl 344,000
s 344,000
401 AIEHI L 2 CHYI 688,000 4,344,000 A 3,656,000
Xl 344,000
s 344,000
01 A& HI 683,665 4,325,115 A 3,641,450
OXNSLHEE 3 A AL 683,665
—GotEE FHIALY 683,665,000 683,665
Xl 344,000
[ia 339,665
03 Al S HHI 4,335 18,885 A 14,550
OXNSLHEE 3 A AL 4,335
— otel& FHIALY  688,000,000& *0.63/100 4,335
LGtEFH(EFH) 320,000 0 320,000
Xl 160,000
e 160,000
401 Al HIZ 201 8] 320,000 0 320,000
Xl 160,000
e 160,000
01 A& HI 317,696 0 317,696
OXNSLHEE 3 H A 317,696
—=5& ZHAY 317,696,000 317,696
Xl 160,000
e 157,696
03 A& S THHI 2,304 0 2,304
OXNSLHESE | HAE 2,304
—=5& ZHIAY 320,000,000& «0.72/100 2,304




SN AHEZ Y
M st =el
el SIEEH X SIEES (sl &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
ACHEFH (&S H) 320,000 0 320,000
X 160,000
= 160,000
401 AIEBIL 2 CHEI 320,000 0 320,000
Xl 160,000
T 160,000
01 A€ dl 317,696 0 317,696
OXNG LSS A AN 317,696
—&3d ZHIAE 317,696,000& 317,696
Xl 160,000
= 157,696
03 AlE 2 TH bl 2,304 0 2,304
OXNGLHEE 3 A AN 2,304
—&=2& FHIAMEY  320,000,000&+0.72/100 2,304
Aot |A2el 1,094,000 895,000 199,000
201 2Bt | 1,000 3,000 A2,000
01 At 22l H 1,000 3,000 A2,000
O4ctEB2ARE AR HH+Y
1,000,000& 1,000
401 A2 I R0 8] 1,093,000 890,000 203,000
01 Al&HI 1,082,815 881,612 201,203
Ozaotd Fl 297,840,000& 297,840
Ogd 8= SHEHAMY 34,622,000& 34,622
Ogd g8=d ¢ HAY 29,676,000& 29,676
O3t ==x40td S HAHIALY 29,676,000 29,676
OR4& &HHAE SHEHIALY 79,280,000 79,280
OJt0F HXAUA SHEBIAY 29,676,000 29,676
OJIoF £ SotEHIAY 39,568,000 39,568
OJIoF 2 SeHEHIALY 19,784,000& 19,784
OOtz 2S5d StEHIAE 29,676,000 29,676
O&= 2iteld S EHHIAY 24,730,000 24,730
O3 S4d StEHIAE 69,370,000 69,370
O=H Held setEHIAY 29,676,000& 29,676
OH= =231 SHFEHIAEY 29,676,000 29,676
O8= S SIHAY 39,568,000 39,568
O8= =328 S¢EHIAEY 19,784,000& 19,784
O3Y 2di4d S HFHIALE 69,370,000 69,370
O Telld sHEHIAY 79,280,000 79,280
O8Il s&€d S EHIAY 37,589,000 37,589
O8F A=A SHEHIAY 29,676,000& 29,676
O HHOd SeHEHIAY 39,568,000 39,568
OEd3a0otd SEHISA 24,730,000 24,730




M HAESZ
M otzel
Chel: St EH & SteE4 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
03 AIE 2 0HHI 10,185 8,388 1,797
OA6t& FHl 300,000,000& x0.72/100 2,160
OEd dE=d SoHEHIAMY
35,000,000& *1.08/100 378
OEd =8 SoHEHIAMY
30,000,000& *1.08/100 324
O34 =346t S HEHIANY
30,000,000& *1.08/100 324
ORI AR HHIS A
80,000,000& *0.90/100 720
OJt0F X SOHEHIA
30,000,000& =1.08/100 324
OJt0F B SHEHIALS
40,000,000& =1.08/100 432
OJI0F 22 d SeotE ALY
20,000,000& *1.08/100 216
O0f2 d&&d SHEHIAY
30,000,000& *1.08/100 324
O2=2 2II2ld S eHEHIAMY
25,000,000& *1.08/100 270
O3 S48 sHFHAMY
70,000, 000& *0.90/100 630
O=H geld sHEHIALY
30,000,000& *1.08/100 324
OHZ 2218 SoHEHIAY
30,000,000& *1.08/100 324
o4 STHASHE FHISA
40,000,000& *1.08/100 432
Og8= 2328 SetEHIAY
20,000,000& *1.08/100 216
O&Y A48 SHFHIAMY
70,000, 000& *0.90/100 630
O Tel1d sHEHIALY
80,000, 000& *0.90/100 720
Ot s&d sHEHIAY
38,000,000& *1.08/100 411
OB M=E SHEHIAMY
30,000,000& *1.08/100 324
O HOAA SetEHIAY
40,000,000& *1.08/100 432
OS&340td S HZHI S A
25,000,000& *1.08/100 270
EFA ot M F 400,000 300,000 100,000
401 Al& I 28I 400,000 300,000 100,000
01 A& HI 397,120 297,660 99,460
EFA StE M FH 198,560, 000& 198,560
ONMZ2SHIJl At 198,560, 000& 198,560




2N S22
Mz oA 22
el SIEEY 2 SEEA EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al&E 201 Y| 2,880 2,340 540
OZ=ZH ol& M &Yl
200,000,000€ x0.72/100 1,440
OMEZHID ALY 200,000,000& *x0.72/100 1,440
=2 SA22 70,000 51,000 19,000
= 35,000
= 35,000
401 AlEHIZL 2 0HY| 70,000 51,000 19,000
& 35,000
= 35,000
01 Al& b 69,460 50, 541 18,919
OEHIEXZ ALY 69,460
— LS A2 49,460,000 49,460
= 25,000
= 24,460
— L FUH=E &bl 20,000,000 20,000
== 10,000
= 10,000
03 Al 201 Y| 540 459 81
OZHIExZAY 540
— L EFHH=E S22
50,000,0002 *1.08/100 540
=ollol s3=7+ 211,160 212,560 A 1,400
201 LBt | 7,920 8,240 A 320
01 AP 22| H| 7,920 8,240 A 320
Ogbt4=24| 1,500,000 42 | 6,000
==l 1,920,000& 1,920
202 o4 | 3,240 4,320 A 1,080
01 2L I 3,240 4,320 A 1,080
Odtd 2 HR=X 3,240,000 3,240
401 AlEHIZL 2 0HY| 200,000 200,000 0
01 Al& H| 198,560 198, 560 0
OMoHAIECHH & S22 198,560, 000& 198,560
03 Al 201 Y| 1,440 1,440 0
OMHAIETE & S2=23
200,000,000€ =x0.72/100 1,440
HEEXE JIsMAEER 22 10,000 10,000 0
401 Al HI L E0HHI 10,000 10,000 0
01 Al&H| 10,000 10,000 0
OHESX B4, 58 ¥ S)|4+48
10,000,000& 10,000
SEA FEHIY XA (Z2Z2AMEE2KX) 18,304 19,460 A 1,156




2N

@ﬂ:a@gz
& StEEH ¥ StEEL (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 7,200
s 11,104
201 LBH2E| 5,920 5,680 240
01 At 22l 5,920 5,680 240
O e8| 1,000,000& 42 7| 4,000
O= &l 1,920,000& 1,920
202 Oddl 5,184 6,480 A 1,296
01 =L 5,184 6,480 N 1,296
OostdzelgeF=a 5,184,000& 5,184
401 Al Bl 28I 7,200 0 7,200
= 7,200
01 A& HI 7,200 0 7,200
O=10EXANY 7,200
—gdA FHIY XNJAY 7,200,000& 7,200
= 7,200
2totE FAEB+AS (4012 70,000 105,000 A 35,000
= 70,000
101 @124 dl 20,000 40,000 A 20,000
= 20,000
04 JIZHHZ2XREE S 20,000 40,000 A 20,000
OZHIEx= At 20,000
— Iototd el IRy 20,000,000& 20,000
= 20,000
201 LB-2E| 20,000 15,000 5,000
= 20,000
02 =224l 20,000 15,000 5,000
OZHIE= A 20,000
— =22 2323 ¥ RFUH
20,000,000& 20,000
= 20,000
401 Al Bl 28I 30,000 50,000 A20,000
= 30,000
01 A& HI 29,676 49,460 AN 19,784
O=HIEXZ ALY 29,676
— 2Itotd SFANESASG (4UH2-T A1)
29,676,000 29,676
= 29,676
03 AIE 2 THHI 324 540 A216
OZHIE= A 324
— 2MotE FANESAS (4UH2A-T=A1E)
30,000,000% «1.08/100 324
= 324
1ot RAE 4= Ared (4TH2 1) 1,030,000 863,000 167,000




SN QBT
M otzel
ool SIAEE U SIEEA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,030,000
101 1244 dl 80,000 80,000 0
= 80,000
04 DIt 22 XREES 80,000 80,000 0
OIHIEx= A 80,000
— Iototd el eIy 80,000,000& 80,000
= 80,000
401 Al HIZ 201 I 950,000 783,000 167,000
= 950,000
01 A& 8l 944,015 778,067 165,948
OZHIEx= A 944,015
— 3JIotE RAESAS (42 2-ot&2el)
944,015,000& 944,015
= 944,015
03 Al S THHI 5,985 4,933 1,052
O=HIEXZ AL 5,985
— 3IIot& RABAG (4012 2-ot&22l)
950,000, 000& *0.63/100 5,985
= 5,985
2 U= =833 ZdAMY 174,000 0 174,000
< 87,000
[ia 87,000
401 AIEHI L 20HEI 174,000 0 174,000
< 87,000
s 87,000
01 A& HI 172,747 0 172,747
OB U2 +HZAZLAY
172,747,000& 172,747
< 87,000
[ia 85,747
03 Al 2 THHI 1,253 0 1,253
OB L2 +HBAIHAY
174,000,000& *0.72/100 1,253
FIEUEHSE RAEF=ALY 300,000 0 300,000
401 AIEHI L 2CHEI 300,000 0 300,000
01 A& tI 297,840 0 297,840
ONFSHEHISA RXx4H 297,840,000 297,840
03 Al S THHI 2,160 0 2,160
ONSHEB 2XNEL
300,000,000& *0.72/100 2,160
orMzte| 23t 1,882,098 1,578,629 303,469
CCTV SE&MdH 1,882,098 1,578,629 303,469
SN 29 1,226,498 1,021,629 204,869




SN QBT
M otmMpel 2
el CCTV SE2MAH (22 &d)
2 S 4
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
201 2er= Sl 556,466 396,104 160,362
01 At 2t 2l bl 11,360 11,560 A 200
Oget=2ZH| 8,400,000& 8,400
Ofds 28 =& 70,0003 x8H 13| 560
O=gl 2,400,000& 2,400
02 524t 545,106 384,544 160,562
O==2= & HMA 435,840
—CCTV &dZ3ldzg 88,000 3603 & 123 380,160
— ZS8L TV e (Lsd dY3)
88,000& 205! & 123 21,120
—CCTv &JIes 8,000 3601 A =123 34,560
OAl & &Hl s X 109,266
— 2 HHE X CCTV AlAE ==&
500, 0003 »5CH =12 30,000
—CCTV RXZ2+ 39,132
- CCTV S AIE=(12h) 526,400,000 6% 31,584
CCTV KXE=(6g)
251,600,000& *6%*0.5 7,548
—SEZNUE AAE RIS 40,134
SEZMAH AAHHW) SXL 2
358,400,000& *6% 21,504
- SEZMAE AIAE(S/W) FRAE=
162,000,000 *11.5% 18,630
202 o4l 6,480 6,480 0
01 S LHOHI 6,480 6,480 0
OZHUEH 2= 6,480,000& 6,480
307 lz2tol & 663,552 619,045 44,507
05 22t & =3 663,552 619,045 44,507
ORLIEHRE 9] 663,552
— SE2AHE 28 Z2LEHA E9H]
553,248,000 553,248
— XZS8n CCTVe A Z2LIHRY S9H(1
H M) 2,298,000% x4 & 1 25 110,304
SEZMUAE JIBAIE S8 & 22 280,000 67,000 213,000
405 At&tE = H| 280,000 17,000 263,000
01 ML ESFH=H 280,000 17,000 263,000
OS3ZAl 2l AMAE 2= 15,000,000 * 14! 15,000
OAEXN(SEMEHA) 75
300, 000& x500T8 150,000
OWS Mg ctoldA 20§ 230,000& x500%H & 115,000
CCTV @1 Zep 2= 375,600 490,000 A 114,400
401 AIEHIZ 2 HYI 375,600 490,000 A114,400




SM: HHEZD
M orE e

2 25t
EH2|: CCTV SE 2N EH (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 Al&H| 372,503 486,310 A 113,807
o &g CCTV A Xl &2 At 236,286,000 236,286
O%% CCTV WM ZAH 57,081,000 57,081
OCCTV =Y oL & A& X 49,460,000 49,460
OCCTV 0|™ & 213 =34 29,676,000 29,676
03 Al&E 201 Y| 3,097 3,690 A 593
oy &g CCTV & Xl Z At
238,000,000€ x0.72/100 1,714
L5 CCTV WM ZAH 57,600,000 %0.9/100 519
OCCTV =Yoot & X
50,000,0002 *1.08/100 540
OCCTV 0|™ & 213 =34
30,000,0002 +1.08/100 324
HEES= (=2} 1,523,220 706,524 816,696
LHEHeH XI= 1,523,220 706,524 816,696
28&E2 1,523,220 706,524 816,696
702 D282 1,523,220 706,524 816,696
o1 J1=2ds23 1,523,220 706,524 816,696
Ot IN2 82 1,523,220
— M2 D2 EE Ao
17,321,992,000& x1/100 173,220
— M2 92 1,350,000,000& 1,350,000
HHSAHAY (=20 26,800 28,510 A1,710
Jl23dHl 26,800 28,510 A1,710
Jl2 &4l 26,800 28,510 A1,710
201 et 11,200 11,710 A510
01 AP 2t 2] H| 11,200 11,710 A510
Ogt4f2H| 11,200,000 11,200
202 044l 12,000 12,600 A 600
01 2Ll 12,000 12,600 A 600
SH2IG (A MNOILLFIAS 2AHE)
12,000,000 12,000
203 ¥ 2 = &4 3,600 4,200 A 600
04 FEASHELIFFEH| 3,600 4,200 A 600
ORMNSIELEF=8H| 3,600,000& 3,600




